
CAUTION: DO NOT EXCEED MAXIMUM LISTED WEIGHT CAPACITY  
(17.6 lb. / 8 kg). SERIOUS INJURY OR PROPERTY DAMAGE MAY OCCUR!

1

PRODUCT  
REGISTRATION
Register your product today for a  
chance to win an ISOBAR® surge  
protector in our monthly drawing!
Tripplite.Eaton.com/warranty

Single-Display Sit-Stand 
Wall-Mount Workstation

Model: WWSS1332W

Español	 9
Français	 17
Русский	 25
Deutsch	 33



A

I

N

B

E

J

D

G

L

H

M

P

C

F

K

O

Bracket Arm
x1

M5 x 16
x4

10 x 45 Anchor
x4

Support Mast
x1

M8 x 25
x2

D5 Washer
x4

Keyboard Shelf
x1

M4 x 12
x4

D6 Washer
x3

4 mm Hex Key
x1

Decorative Cover 
x2

M5 x 12 
x4

8 x 5 Spacer 
x4

M4 x 16
x4

6.3 x 55 
Tapping Screw

x4

6 mm Hex Key
x1

IMPORTANT: Ensure all parts according to the component checklist have  
been received prior to installation. If any parts are missing or faulty, visit  
Tripplite.Eaton.com/support for service.

2

Component Checklist



1
L NM

x3x3 x3

N

N L

Mount Bracket Arm 
to wall.

60mm
2.4"()

60mm
(2.4")

ø 10mm
(ø 3 /8")  

√

WARNING

• 	 When mounting on a wood stud wall, make sure that mounting screws are 
anchored into the center of the studs. Use of a stud finder is highly recommended. 

• 	 When installing wall mounts onto a concrete masonry unit (also known as a CMU 
or “cinder block”), verify that the actual concrete thickness is at least 35 mm  
(1-3/8”) in order to hold the concrete anchors. DO NOT DRILL INTO MORTAR 
JOINTS! Be sure to mount the wall mount with the included concrete anchors and 
anchor bolts onto solid sections of the blocks. The solid sections can generally be 
found 25 mm (1”) toward the middle of the block from either end. An electric drill 
on a slow setting is suggested to drill the hole rather than a hammer drill, so as 
to avoid breaking out the back of the hole when entering a hollow section.

• 	 Installers are responsible to provide hardware for other types of mounting 
situations.

• 	 Installers must verify that the supporting surface will safely support the combined 
load of the equipment and all attached hardware and components.

1/4” 
(6 mm)

Mark the 
exact location 

of mounting 
holes

X X

Drill pilot 
holes

Screw the 
wall mount 

onto the wall

M

M

3

Assembly

1

2



D

Install Decorative Covers.

Remove VESA Plate from Support Mast.

Attach Keyboard Shelf 
to Support Mast.

E PO
x2

x2

P

O

E

2

3

4

D

D

4

Assembly



Attach Keyboard Shelf 
and Support Mast 
Assembly to Bracket Arm.

Attach 
VESA 
plate to 
back of 
display.

3/16” (5 mm)

O

O

O

1 2 3

TVTV

TVTV

F I J KHG
x4 x4 x4 x4x4x4

F
J J

K

Ior or

Note: Firmly secure the VESA plate to the display using the appropriate screws, washers and 
spacers (if necessary). 

Do not over-tighten screws.

5

6

G H

5

Assembly



Slide VESA plate and Display onto the Support Mast.

Adjust Bracket Arm tension.

P

P

Using an assistant or mechanical lifting equipment, lift the display with attached VESA plate. 
Slide the VESA plate over the Support Mast bracket. Reattach the top knob to secure the VESA 
mount (removed in step 3).

Keep the bracket arm level during tension adjustment. You may need to slightly loosen or 
tighten the adjustment screw using the provided 6 mm Hex Key, depending on the weight of 
display installed.
If display settles on its own, rotate adjustment screw towards the “+” symbol.
If display rises on its own, rotate adjustment screw towards the “-” symbol. 

7

8

6

Assembly



+15°

-15°

 +4°    -4°   

Adjust to the desired location or tilt.

Keyboard Shelf adjusts at multiple angles.

O

O

P

P

To correct the tilting angle, tighten the adjustment screws using the provided Hex Keys (or 
tighten the knob).

P

O

0°

10°   10°      

P
O

9

10

7

Assembly



5-YEAR LIMITED WARRANTY
We warrant our products to be free from defects in materials and workmanship for a period of five (5) years from the date of initial purchase. Our 
obligation under this warranty is limited to repairing or replacing (at its sole option) any such defective products. Visit Tripplite.Eaton.com/support/
product-returns before sending any equipment back for repair. This warranty does not apply to equipment which has been damaged by accident, 
negligence or misapplication or has been altered or modified in any way.
EXCEPT AS PROVIDED HEREIN, WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, INCLUDING WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A 
PARTICULAR PURPOSE. Some states do not permit limitation or exclusion of implied warranties; therefore, the aforesaid limitation(s) or exclusion(s) may 
not apply to the purchaser.
EXCEPT AS PROVIDED ABOVE, IN NO EVENT WILL EATON BE LIABLE FOR DIRECT, INDIRECT, SPECIAL, INCIDENTAL OR CONSEQUENTIAL DAMAGES 
ARISING OUT OF THE USE OF THIS PRODUCT, EVEN IF ADVISED OF THE POSSIBILITY OF SUCH DAMAGE. Specifically, we are not liable for any costs,  
such as lost profits or revenue, loss of equipment, loss of use of equipment, loss of software, loss of data, costs of substitutes, claims by third parties,  
or otherwise.

PRODUCT REGISTRATION
Visit Tripplite.Eaton.com/warranty today to register your new product. You’ll be automatically entered into a drawing for a chance to win a FREE Eaton 
Tripp Lite series product!*
*No purchase necessary. Void where prohibited. Some restrictions apply. See website for details.

Eaton has a policy of continuous improvement. Specifications are subject to change without notice.

Maintenance
•	 Check that the bracket is secure and safe to use at regular intervals  
(at least every three months). 

•	 Please visit Tripplite.Eaton.com/support if you have any questions.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
United States
Eaton.com

© 2023 Eaton
All Rights Reserved
Publication No. 23-06-148 / 93-377A_RevB / GG 
November 2023

Eaton is a registered trademark.

All trademarks are property  
of their respective owners.

8

Assembly

Warranty and Product Registration



PRECAUCIÓN: NO EXCEDA LA CAPACIDAD MÁXIMA DE CARGA INDICADA  
(8 kg). ¡PUEDE OCURRIR UNA LESIÓN SEVERA O DAÑO A LA PROPIEDAD!

9

Estación de Trabajo de Altura Variable  
para una Pantalla para Instalación en Pared

Modelo: WWSS1332W

English	 1
Français	 17
Русский	 25
Deutsch	 33



Brazo de 
Soporte 

x1

M5 x 16
x4

Taquete de  
10 x 45 

x7

Mástil de 
Soporte 

x1

Arandela D5 
x4

Repisa para 
Teclado 

x1

Arandela D6 
x3

Llave 
Hexagonal de 

4 mm 
x1

Cubierta 
Decorativa 

x2

Espaciador de 
8 x 5  
x4

Tornillo 
Autorroscantede 

6.3 x 55 
x7

Llave 
Hexagonal de 

6 mm 
x1

A

I

N

B

E

J

D

G

L

H

M

P

C

F

K

O

M8 x 25
x2

M4 x 12
x4

M5 x 12 
x4

M4 x 16
x4

IMPORTANTE: Asegúrese antes de instalar, de haber recibido todas las partes de 
acuerdo a la lista de comprobación de componentes. Si faltase cualquier parte o 
estuviese dañada, visite Tripplite.Eaton.com/support para solicitar servicio.

10

Lista de Comprobación de Componentes



1
L NM

x3x3 x3

N

N L

Instale el Brazo de 
Soporte en la pared.

60mm
2.4"()

60mm
(2.4")

ø 10mm
(ø 3 /8")  

√

ADVERTENCIA
• 	 Cerciórese que los tornillos de instalación estén anclados en el centro de los 

montantes. Es muy recomendable usar un detector de montantes.
• 	 Al instalar soportes de pared en una unidad de mampostería de concreto (conocida 

también como bloques de concreto), verifique que el espesor real del concreto sea de 
al menos 35 mm (1-3/8 pulg.) a fin de sujetar los anclajes para concreto. ¡No taladre 
en las uniones de argamasa! Asegúrese de instalar el soporte de pared con las anclas 
para concreto tornillos de anclaje incluidos en las secciones sólidas de los bloques. 
Las secciones sólidas pueden encontrarse generalmente a 25 mm (1 pulg.) hacia el 
centro del bloque en cada extremo. Se sugiere utilizar un taladro eléctrico a baja 
velocidad para barrenar el orificio en vez de un rotomartillo para evitar rotura de la 
parte posterior del orificio al entrar en una sección hueca.

• 	 Los instaladores son responsables de proporcionar los accesorios para otros tipos de 
soluciones de instalación.

• 	 Los instaladores deben verificar que la superficie de apoyo soporte con seguridad la 
carga combinada del equipo y los accesorios y componentes agregados.

1/4” 
(6 mm)

Encuentre y marque 
la posición exacta 

de los orificios  
de instalación

X X

Barrene 
los orificios 

piloto

Atornille el 
soporte de pared 

en la pared

M

M

11

Ensamble

1

2



D

Instale las Cubiertas Decorativas.

Retire la Placa VESA del Mástil de Soporte.

Coloque la Repisa para Teclado 
en el Mástil de Soporte.

E PO
x2

x2

P

O

E

2

3

4

D

D

12

Ensamble



Coloque el Conjunto de la Repisa 
para Teclado y el Mástil de Soporte 
en el Brazo de Soporte.

Coloque la 
placa VESA 
a la parte 
posterior 
de la 
pantalla.

3/16” (5 mm)

O

O

O

1 2 3

TVTV

TVTV

F I J KHG
x4 x4 x4 x4x4x4

F
J J

K

Io o

Nota: Asegure firmemente la placa VESA a la pantalla usando los tornillos, arandelas y  
espaciadores apropiados (si fuera necesario). 

No apriete excesivamente los tornillos.

5

6

G H

13

Ensamble



Deslice la placa VESA y la Pantalla en el Mástil de Soporte.

Ajuste la tensión del Brazo de 
Soporte.

P

P

Usando un ayudante o equipo de elevación mecánico, levante la pantalla con la placa VESA 
acoplada. Deslice la placa VESA sobre la Ménsula del Mástil de Soporte. Reinstale la perilla 
superior para sujetar el soporte VESA (retirados en el paso 3).

Mantenga nivelado el brazo del soporte de pared durante el ajuste de la tensión. Puede 
necesitar apretar o aflojar ligeramente el tornillo de ajuste con la llave hexagonal de 6 mm 
suministrada, dependiendo del peso de la pantalla instalada.
Si la pantalla se baja por sí misma, gire el tornillo de ajuste hacia el símbolo “+”.
Si la pantalla se levanta por sí misma, gire el tornillo de ajuste hacia el símbolo “-”.

7

8

14

Ensamble



+15°

-15°

 +4°    -4°   

Ajuste a la posición o inclinación deseada.

La repisa para Teclado se ajusta en 
múltiples ángulos.

O

O

P

P

Para corregir el ángulo de inclinación, apriete el tornillo de ajuste usando las llaves hexagona-
les suministradas (o apriete la perilla).

P

O

0°

10°   10°      

P
O

9

10

15

Ensamble



GARANTÍA LIMITADA DE 5 AÑOS

Garantizamos por cinco (5) años a partir de la fecha de compra inicial que nuestros productos no presentan defectos de materiales ni de mano de 
obra. Nuestra obligación bajo esta garantía está limitada a la reparación o reemplazo (a su entera discreción) de cualquier producto defectuoso. Antes 
de devolver cualquier equipo para reparación, visite Tripplite.Eaton.com/support/product-returns. Esta garantía no se aplica a equipos que hayan sido 
dañados por accidente, negligencia o mal uso, o hayan sido alterados o modificados de alguna manera.

EXCEPTO COMO SE INDICA EN EL PRESENTE, EATON NO OFRECE GARANTÍAS EXPRESAS O IMPLÍCITAS, INCLUIDAS GARANTÍAS DE COMERCIABILIDAD 
Y ADECUACIÓN PARA UN DETERMINADO PROPÓSITO. Algunos estados no permiten la limitación o exclusión de garantías implícitas; por lo tanto, las 
limitaciones o exclusiones antes mencionadas pueden no aplicarse al comprador.

SALVO POR LO INDICADO ANTERIORMENTE, EN NINGÚN CASO EATON ASUMIRÁ RESPONSABILIDAD POR DAÑOS DIRECTOS, INDIRECTOS, ESPECIALES, 
INCIDENTALES O EMERGENTES QUE SURJAN COMO RESULTADO DEL USO DE ESTE PRODUCTO, INCLUSO SI SE ADVIERTE SOBRE LA POSIBILIDAD DE 
TAL DAÑO. Específicamente, no somos responsables por ningún costo, como pérdida de ganancias o ingresos, pérdida de equipos, pérdida del uso de 
equipos, pérdida de software, pérdida de datos, costos de sustituciones, reclamos de terceros o de cualquier otra forma. 

Eaton tiene una política de mejora continua. Las especificaciones están sujetas a cambio sin previo aviso.

Mantenimiento
• 	 Compruebe a intervalos regulares (al menos cada tres meses) que el soporte esté seguro 
para usarse.

• 	 Si tiene alguna pregunta, visite por favor a Tripplite.Eaton.com/support.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
Estados Unidos
Eaton.com

© 2023 Eaton
Todos los derechos reservados
Publicación No. 23-06-148 / 93-377A_RevB / GG 
Noviembre 2023

Eaton es una marca registrada.

Todas las marcas registradas son 
propiedad de sus respectivos 
propietarios.

16

Ensamble

Garantía



MISE EN GARDE : NE PAS EXCÉDER LA CAPACITÉ PONDÉRALE MAXIMUM 
INDIQUÉE (8 kg). DES BLESSURES GRAVES OU DES DOMMAGES MATÉRIELS 
RISQUENT DE SE PRODUIRE!

17

Station de travail à montage mural  
assis-debout à un seul écran

Modèle : WWSS1332W

English	 1
Español	 8
Русский	 25
Deutsch	 33



Bras du 
support 

x1

Ancrage  
10 x 45 

x7

Mât de 
support 

x1

Rondelle D5 
x4

Étagère du 
clavier 

x1

Rondelle D6 
x3

Clé 
hexagonale de 

4 mm  
x1

Couvercle  
décoratif 

x2

Entretoise  
8 x 5  
x4

Vis taraudeuse 
6,3 x 55 

x7

Clé 
hexagonale de 

6 mm
x1

M5 x 16
x4

A

I

N

B

E

J

D

G

L

H

M

P

C

F

K

O

M8 x 25
x2

M4 x 12
x4

M5 x 12 
x4

M4 x 16
x4

IMPORTANT : Veuillez vous assurer d’avoir reçu toutes les pièces conformément 
à la liste de vérification des composants avant de procéder à l’installation. 
Si des pièces sont manquantes ou défectueuses, visitez Tripplite.Eaton.com/
support pour obtenir de l’aide.

18

Liste de vérification des composants



1
L NM

x3x3 x3

N

N L

Monter le bras du 
support au mur.

60mm
2.4"()

60mm
(2.4")

ø 10mm
(ø 3 /8")  

√

AVERTISSEMENT
• 	 S’assurer que les vis de montage sont ancrées au centre des montants. Il est 

fortement recommandé d’utiliser un localisateur de montants.
• 	 Lorsque les montages muraux sont installés sur un élément de maçonnerie en béton 

(également appelé bloc de béton ou « bloc de béton de mâchefer »), vérifier que 
l’épaisseur réelle du béton est d’au moins moins 35 mm (1-3/8 po) afin que le béton 
puisse supporter les ancrages à béton. NE PAS PERCER DANS LES JOINTS DE MORTIER! 
S’assurer de monter le montage mural avec les ancrages à béton et les boulons 
d’ancrage inclus dans les sections solides des blocs. Les sections solides se trouvent 
habituellement à 25 mm (1 po) vers le milieu du bloc à partir de chaque extrémité. 
Il est suggéré d’utiliser une perceuse électrique pour percer un trou plutôt qu’un 
marteau perforateur afin d’éviter d’endommager l’arrière du trou en présence d’un 
espace vide.

• 	 Les installateurs sont responsables de fournir la quincaillerie pour tout autre type de 
situations de montage.

• 	 Les installateurs doivent s’assurer que la surface d’appui va supporter sans risque la 
charge combinée de l’équipement et de tout le matériel et composants attachés.

1/4” 
(6 mm)

Marquer 
l’emplacement exact 

des trous de 
montage.

X X

Percer des 
avant- 
trous.

Visser le 
support  

mural  
au mur.

M

M

19

Assemblage

1

2



D

Installer les couvercles décoratifs.

Retirer la plaque VESA du mât du support.

Fixer l’étagère du clavier au mât 
de support.

E PO
x2

x2

P

O

E

2

3

4

D

D

20

Assemblage



Fixer l’étagère du clavier et 
l’ensemble du mât de support au 
bras de support.

Fixer la 
plaque 
VESA à 
l’arrière de 
l’écran.

3/16” (5 mm)

O

O

O

1 2 3

TVTV

TVTV

F I J KHG
x4 x4 x4 x4x4x4

F
J J

K

Iou ou

Remarque : Attacher fermement la plaque VESA à l’écran en utilisant les vis, les rondelles et 
les entretoises (au besoin).

Ne pas trop serrer les vis.

5

6

G H

21

Assemblage



Glisser la plaque VESA et l’écran sur le mât de support.

Régler la tension du bras de 
support.

P

P

Faire appel à un assistant ou utiliser de l’équipement de levage mécanique pour soulever  
l’écran avec la plaque VESA déjà en place. Glisser la plaque VESA sur le support de mât de 
support. Rattacher le bouton supérieur pour sécuriser le montage VESA (retiré à l’étape 3).

Garder le bras de montage mural au niveau durant le réglage de la tension. Il peut s’avérer 
nécessaire de desserrer ou de serrer légèrement la vis de réglage en utilisant la clé 
hexagonale de  6 mm fournie en fonction du poids de l’écran installé
Si l’écran s’abaisse de lui-même, tourner la vis de réglage vers le symbole « + ».
Si l’écran monte de lui-même, tourner la vis de réglage vers le symbole « - ».

7

8

22

Assemblage



+15°

-15°

 +4°    -4°   

Régler à l’endroit et selon l’angle désirés.

L’étagère du clavier s’ajuste sous 
plusieurs angles.`

O

O

P

P

Pour corriger l’angle d’inclinaison, serrer la vis de réglage au moyen des clés hexagonales four-
nies (ou serrer le bouton).

P

O

0°

10°   10°      

P
O

9

10

23

Assemblage



GARANTIE LIMITÉE DE 5 ANS

Nous garantissons que nos produits sont exempts de vices de matériaux et de fabrication pendant une période de cinq (5) ans à partir de la date 
d’achat initiale. Notre responsabilité, en vertu de la présente garantie, se limite à la réparation ou au remplacement (à sa seule discrétion) de ces 
produits défectueux. Visiter Tripplite.Eaton.com/support/product-returns avant d’envoyer de l’équipement pour réparation. Cette garantie ne s’applique 
pas au matériel ayant été endommagé suite à un accident, à une négligence ou à une application abusive, ou ayant été altéré ou modifié d’une façon 
quelconque.

SAUF INDICATION CONTRAIRE DANS LES PRÉSENTES, EATON N’ÉMET AUCUNE GARANTIE, EXPRESSE OU TACITE, Y COMPRIS DES GARANTIES DE 
QUALITÉ COMMERCIALE ET D’ADAPTATION À UN USAGE PARTICULIER. Certains États n’autorisant pas la limitation ni l’exclusion de garanties tacites, les 
limitations ou exclusions susmentionnées peuvent ne pas s’appliquer à l’acheteur.

À L’EXCEPTION DES DISPOSITIONS CI-DESSUS, EATON NE POURRA EN AUCUN CAS ÊTRE TENUE RESPONSABLE DE DOMMAGES DIRECTS, INDIRECTS, 
SPÉCIAUX, FORTUITS OU CONSÉCUTIFS RÉSULTANT DE L’UTILISATION DE CE PRODUIT, MÊME SI AYANT ÉTÉ AVISÉE DE L’ÉVENTUALITÉ DE TELS 
DOMMAGES. Plus précisément, nous ne pourrons être tenus responsables de coûts, tels que perte de bénéfices ou de recettes, perte de matériel, 
impossibilité d’utilisation du matériel, perte de logiciel, perte de données, frais de produits de remplacement, réclamations d’un tiers ou autres.

La politique d’Eaton en est une d’amélioration continue. Les caractéristiques techniques sont modifiables sans préavis.

Entretien
• 	 Vérifier à intervalles réguliers que le support peut être utilisé de façon sûre et sécuritaire 
(au moins tous les trois mois).

• 	 Veuillez visiter Tripplite.Eaton.com/support si vous avez des questions.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
United States
Eaton.com

© 2023 Eaton
Tous droits réservés.
Publication n° 23-06-148 / 93-377A_RevB / GG 
Novembre 2023

Eaton est une marque déposée.

Toutes les marques de commerce 
sont la propriété de leurs 
propriétaires respectifs.

24

Assemblage

Garantie



ВНИМАНИЕ! НЕ ПРЕВЫШАЙТЕ МАКСИМАЛЬНО ДОПУСТИМЫЙ ВЕС 
(8 кг). ЭТО МОЖЕТ ПРИЧИНИТЬ СУЩЕСТВЕННЫЙ ВРЕД ЗДОРОВЬЮ 
ЛЮДЕЙ ИЛИ МАТЕРИАЛЬНЫЙ УЩЕРБ!

25

Настенная рабочая станция с 
регулируемой высотой на один дисплей

МОДЕЛЬ: WWSS1332W

English	 1
Español	 8
Français	 17
Deutsch	 33



Рычаг 
кронштейна 

1 шт.

M5 x 16
4 шт.

Анкер 10 x 45 
7 шт.

Опора
1 шт.

M8 x 25
2 шт.

Шайба D5  
4 шт.

Полка для 
клавиатуры 

1 шт.

M4 x 12
4 шт.

Шайба D6 
3 шт.

Шестигранный 
ключ на 4 мм 

1 шт.

Декоративная 
заглушка 
2 шт.

M5 x 12 
4 шт.

Проставка 8 x 5  
4 шт.

M4 x 16
4 шт.

Саморез 6,3 x 55 
7 шт.

Шестигранный 
ключ на 6 мм 

1 шт.

A

I

N

B

E

J

D

G

L

H

M

P

C

F

K

O

ВНИМАНИЕ! Перед установкой убедитесь, что все детали согласно 
контрольному перечню компонентов получены. Если какие-либо детали 
отсутствуют или неисправны, посетите Tripplite.Eaton.com/support для 
обслуживания.

26

Перечень комплектации



1
L NM

x3x3 x3

N

N L

Прикрепите рычаг 
кронштейна к стене.

60mm
2.4"()

60mm
(2.4")

ø 10mm
(ø 3 /8")  

√

ВНИМАНИЕ
  •	� Необходимо обеспечить ввертывание крепежных винтов по центру элементов каркаса. 

С этой целью настоятельно рекомендуется использование детектора неоднородностей.
  •	� При монтаже настенных кронштейнов на бетонный строительный блок (известный 

также как БСБ или “шлакобетонный блок”) убедитесь в том, что фактическая толщина 
бетона составляет не менее 35 мм с целью обеспечения надлежащей фиксации 
анкеров для бетона. Не высверливайте отверстия в швах, заполненных строительным 
раствором! Кронштейн для настенного монтажа обязательно следует монтировать с 
помощью поставляемых в комплекте с ним анкеров для бетона и анкерных болтов в 
сплошных частях блоков. Сплошные части обычно находятся на расстоянии 25 мм от 
любого из краев блока к его центру. Во избежание разрушения задней стенки отверстия 
при попадании сверла в полую часть, для высверливания отверстия рекомендуется 
использовать электрическую дрель на малой скорости вращения вместо перфораторa.

  •	� Ответственность за обеспечение подходящей крепежной оснастки для других способов 
монтажа возлагается на установщика.

  •	� Установщик обязан убедиться в том, что опорная поверхность с запасом выдержит 
суммарную нагрузку, создаваемую оборудованием и всеми входящими в комплект 
деталями оснастки и другими компонентами.

1/4” 
(6 mm)

Определите и 
разметьте точное 
местоположение 

монтажных отверстий

X X

Высверлите 
направляющие 

отверстия

Привинтите 
крепежную 
пластину к 

стене

M

M

27

Сборка

1

2



D

Установите декоративные заглушки.

Отсоедините пластину VESA от опоры.

Прикрепите полку для 
клавиатуры к опоре.

E PO
x2

x2

P

O

E

2

3

4

D

D

28

Сборка



Прикрепите полку для клавиатуры 
с опорой к рычагу кронштейна.

Прикрепите 
пластину  
VESA к  
задней  
панели 
дисплея.

3/16” (5 mm)

O

O

O

1 2 3

TVTV

TVTV

F I J KHG
x4 x4 x4 x4x4x4

F
J J

K

Iили или

Примечание. Плотно прикрепите пластину VESA к дисплею с использованием соответ-
ствующих винтов, шайб и распорок (при необходимости).

Не перетягивайте винты.

5

6

G H

29

Сборка



Наденьте пластину VESA с дисплеем на опору.

Отрегулируйте усилие затяжки 
рычага кронштейна.

P

P

Обратившись за помощью или воспользовавшись механическим подъемным обо-
рудованием, поднимите дисплей с прикрепленной к нему пластиной VESA Наденьте 
пластину VESA поверх держателя опоры. Заверните верхнюю регулировочную головку 
(вывернутую на шаге 3) для фиксации кронштейна VESA.

В процессе регулировки затяжки сохраняйте уровень расположения кронштейна. При 
помощи торцевого ключа соответствующего размера слегка ослабьте или затяните 
регулировочный винт в зависимости от веса дисплея.
В случае самопроизвольного опускания дисплея поверните регулировочный винт по 
направлению к значку “+”.
В случае самопроизвольного поднятия дисплея поверните регулировочный винт по 
направлению к значку “-”.

7

8

30

Сборка



+15°

-15°

 +4°    -4°   

Установите в нужное положение или под 
нужным углом.

Полка для клавиатуры может 
устанавливаться под различным углом.

O

O

P

P

Для корректировки угла наклона затяните регулировочные винты с помощью  
шестигранных ключей, поставляемых в комплекте (или затяните регулировочную  
головку).

P

O

0°

10°   10°      

P
O

9

10

31

Сборка



OГРАНИЧЕННАЯ ГАРАНТИЯ СРОКОМ 5 ГОДA

Наша компания гарантирует отсутствие дефектов материалов и изготовления в течение пяти (5) лет с даты первоначальной покупки. 
Oбязательства компании по настоящей гарантии ограничиваются ремонтом или заменой (по ее единоличному усмотрению) любых таких 
дефектных изделий. Перед возвратом оборудования для проведения ремонта ознакомьтесь с информацией на странице Tripplite.Eaton.com/
support/product-returns. Действие настоящей гарантии не распространяется на оборудование, поврежденное в результате аварии, небрежного 
обращения или неправильного использования, а также видоизмененное каким бы то ни было образом.

ЗА ИСКЛЮЧЕНИЕМ ПРЕДУСМОТРЕННЫХ ЗДЕСЬ СЛУЧАЕВ КОМПАНИЯ EATON НЕ ПРЕДОСТАВЛЯЕТ КАКИХ-ЛИБО ЯВНЫХ ИЛИ ПОДРАЗУМЕВАЕМЫХ 
ГАРАНТИЙ, ВКЛЮЧАЯ ГАРАНТИИ КОММЕРЧЕСКОЙ ПРИГОДНОСТИ И ПРИГОДНОСТИ ДЛЯ КАКОЙ-ЛИБО КОНКРЕТНОЙ ЦЕЛИ. B некоторых 
штатах/государствах ограничение или исключение подразумеваемых гарантий не допускается; следовательно, вышеуказанное(-ые) 
ограничение(-я) или исключение(-я) могут не распространяться на покупателя.

ЗА ИСКЛЮЧЕНИЕМ ПРЕДУСМОТРЕННЫХ ВЫШЕ СЛУЧАЕВ КОМПАНИЯ TRIPP LITЕ НИ ПРИ КАКИХ ОБСТОЯТЕЛЬСТВАХ НЕ НЕСЕТ 
ОТВЕТСТВЕННОСТИ ЗА ПРЯМЫЕ, КОСВЕННЫЕ, CЛУЧАЙНЫЕ ИЛИ ПОБОЧНЫЕ УБЫТКИ ЛИБО УБЫТКИ, ОПРЕДЕЛЯЕМЫЕ ОСОБЫМИ 
ОБCТОЯТЕЛЬСТВАМИ, ВОЗНИКАЮЩИЕ В СВЯЗИ С ИСПОЛЬЗОВАНИЕМ ДАННОГО ИЗДЕЛИЯ, ДАЖЕ В CЛУЧАЕ ЕЕ ИНФОРМИРОВАНИЯ О 
ВОЗМОЖНОCТИ НАСТУПЛЕНИЯ ТАКИХ УБЫТКОВ. В частности, мы не несем ответственности за какие-либо издержки, такие как упущенные 
прибыли или доходы, потеря оборудования, потеря возможности использования оборудования, потеря программного обеспечения, потеря 
данных, расходы на заменители, урегулирование претензий третьих лиц и пр.

Eaton постоянно совершенствует свою продукцию. B связи с этим возможно изменение технических характеристик без предварительного 
уведомления.

Техническое обслуживание
•   Регулярно (не реже, чем раз в три месяца) проверяйте надежность крепления крон-
штейна и безопасность его использования.

•   В случае возникновения каких-либо вопросов приглашаем вас посетить страницу 
Tripplite.Eaton.com/support.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
Соединенные Штаты Америки
Eaton.com

© 2023 Eaton
Перепечатка запрещается
Публикация № 23-06-148 / 93-377A_RevB / GG 
ноябрь 2023 г.

Eaton является 
зарегистрированным товарным 
знаком.

Все товарные знаки 
являются собственностью 
соответствующих владельцев.

32

Сборка

Гарантийные обязательства



ACHTUNG: DAS ANGEGEBENE MAXIMALGEWICHT DARF 
NICHT ÜBERSCHRITTEN WERDEN (8 kg). ES KÖNNEN SCHWERE 
KÖRPERVERLETZUNGEN ODER ERHEBLICHE SACHSCHÄDEN EINTRETEN!

33

Steh-Sitz-Arbeitsplatz für einen 
Bildschirm mit Wandbefestigung

Modell: WWSS1332W

English	 1
Español	 9
Français	 17
Русский	 25



Trägerarm
x1

10 x 45 Anker 
x7

Trägermast
x1

D5 
Beilagscheibe 

x4

Tastaturablage
x1

D6 
Beilagscheibe 

x3

4 mm 
Inbusschlüssel 

x1

Dekorative 
Abdeckung 

x2

8 x 5 
Abstandshalter 

x4

6,3 x 55 
Blechschraube 

x7

6 mm 
Inbusschlüssel 

x1

M5 x 16
x4

A

I

N

B

E

J

D

G

L

H

M

P

C

F

K

O

M8 x 25
x2

M4 x 12
x4

M5 x 12 
x4

M4 x 16
x4

WICHTIG: Überprüfen Sie, ob Sie alle in der Komponentenliste aufgeführten Teile 
erhalten haben, bevor Sie mit der Installation beginnen. Wenn Teile beschädigt 
oder nicht vorhanden sind, besuchen Sie Tripplite.Eaton.com/support.

34

Komponentenliste



1
L NM

x3x3 x3

N

N L

Befestigen Sie den 
Trägerarm an der Wand.

60mm
2.4"()

60mm
(2.4")

ø 10mm
(ø 3 /8")  

√

WARNUNG
• 	 Stellen Sie sicher, dass die Befestigungsschrauben in der Mitte der Balken verankert sind. Wir 

empfehlen die Verwendung eines Balkensuchers.
• 	 Bei der Montage von Wandbefestigungen an Wänden aus Betonsteinen (auch 

Porenbetonsteine oder Betonschalsteine genannt) zuerst überprüfen, dass die tatsächliche 
Betondicke mindestens 35 mm beträgt, damit die Betonanker sicher gehalten werden. Keine 
Bohrlöcher in die Mörtelfugen bohren! Vergewissern Sie sich, dass Sie die Wandbefestigung 
mit den mitgelieferten Betonankern und Ankerbolzen an einem starken Abschnitt des 
Betonsteines montieren. Ein solcher starker Abschnitt befindet sich normalerweise etwa 
25 mm von einem der Enden entfernt zur Mitte des Betonsteines hin. Anstelle einer 
Schlagbohrmaschine wird zum Bohren des Bohrloches eine elektrische Bohrmaschine mit 
geringer Drehzahl empfohlen, um ein Ausbrechen des Werkstoffs am Bohrlochausgang zu 
verhindern, wo der Hohlraum beginnt.

• 	 Für andere Befestigungsarten muss das Material vom Monteur bereitgestellt werden.
• 	 Der Monteur muss sicherstellen, dass die verwendete Montagefläche das Gesamtgewicht des 

Geräts einschließlich des zugehörigen Materials und aller zugehörigen Komponenten tragen 
kann.

1/4” 
(6 mm)

Markieren Sie die 
genaue Position der 
Befestigungslöcher

X X

Bohren Sie 
die Führungs-

löcher

Schrauben Sie die 
Wandhalterung 

an die Wand

M

M

35

Montage

1

2



D

Bringen Sie die dekorativen Abdeckungen an.

Entfernen Sie die VESA-Platte vom Trägermast.

Befestigen Sie die 
Tastaturablage am Trägermast.

E PO
x2

x2

P

O

E

2

3

4

D

D

36

Montage



Bringen Sie die Tastaturablage und die 
Trägermastbaugruppe am Trägerarm an.

Bringen 
Sie die 
VESA-Platte 
an der 
Rückseite 
des 
Bildschirms 
an.

3/16” (5 mm)

O

O

O

1 2 3

TVTV

TVTV

F I J KHG
x4 x4 x4 x4x4x4

F

J J

K

Ioder oder

Hinweis: Die VESA-Platte unter Verwendung der geeigneten Schrauben, Beilagscheiben und 
Abstandhalter (falls erforderlich) fest am Bildschirm anschrauben. 

Die Schrauben nicht überdrehen.

5

6

G
H

37

Montage



Schieben Sie die VESA-Platte und den Bildschirm auf den 
Trägermast.

Passen Sie die Spannung des 
Trägerarms an.

P

P

Mit Hilfe eines Assistenten oder einer mechanischen Hebevorrichtung den Bildschirm 
mit der daran befestigten VESA-Platte anheben. Schieben Sie die VESA-Platte über die 
Trägermasthalterung. Bringen Sie den oberen Knopf erneut an, um die VESA-Platte zu 
befestigen (in Schritt 3 entfernt).

Bei allen Nachzieharbeiten die richtige Stellung des Wandbefestigungsarms beibehalten. Je 
nach Gewicht des montierten Bildschirms kann ein leichtes Lockern oder Nachziehen der 
Einstellschrauben mit dem mitgelieferten 6 mm Inbusschlüssel erforderlich sein.
Wenn sich der Bildschirm selbst ausgleicht, drehen Sie die Einstellschraube in Richtung des 
„+“-Symbols.
Wenn sich der Bildschirm anhebt, drehen Sie die Einstellschraube in Richtung des „-“-Symbols.

7

8

38

Montage



+15°

-15°

 +4°    -4°   

Passen Sie die Position oder Neigung an.

Die Tastaturablage kann auf mehrere 
Winkel eingestellt werden.

O

O

P

P

Zur Korrektur des Neigungswinkels die Einstellschrauben mit dem mitgelieferten Inbusschlüssel 
fest ziehen (bzw. den Knopf festdrehen).

P

O

0°

10°   10°      

P
O

9

10

39

Montage



5 JAHRE EINGESCHRÄNKTE GARANTIE

Wir garantieren, dass unsere Produkte frei von Material- und Verarbeitungsfehlern sind, und zwar für einen Zeitraum von fünf (5) Jahren ab dem 
Datum des Erstkaufs. Unsere Verpflichtung im Rahmen dieser Garantie beschränkt sich auf die Reparatur oder den Ersatz (nach eigenem Ermessen) 
der fehlerhaften Produkte. Besuchen Sie Tripplite.Eaton.com/support/product-returns, bevor Sie Geräte zur Reparatur zurücksenden. Diese Garantie 
gilt nicht für Geräte, die durch Unfall, Fahrlässigkeit oder falsche Anwendung beschädigt wurden oder in irgendeiner Weise geändert oder modifiziert 
wurden.

MIT AUSNAHME DER HIERIN ENTHALTENEN BESTIMMUNGEN GIBT EATON KEINE GARANTIEN, WEDER AUSDRÜCKLICH NOCH STILLSCHWEIGEND, 
EINSCHLIESSLICH GARANTIEN DER MARKTGÄNGIGKEIT UND EIGNUNG FÜR EINEN BESTIMMTEN ZWECK. Einige Staaten gestatten keine Beschränkung 
oder keinen Ausschluss stillschweigender Gewährleistungen; daher kann es sein, dass die oben genannten Beschränkungen oder Ausschlüsse auf den 
Käufer nicht zutreffen.

MIT AUSNAHME DER OBIGEN BESTIMMUNGEN IST EATON UNTER KEINEN UMSTÄNDEN HAFTBAR FÜR DIREKTE, INDIREKTE, SPEZIELLE, ZUFÄLLIGE 
ODER FOLGESCHÄDEN, DIE SICH AUS DER VERWENDUNG DIESES PRODUKTES ERGEBEN, SELBST WENN AUF DIE MÖGLICHKEIT SOLCHER SCHÄDEN 
HINGEWIESEN WURDE. Insbesondere haften wir nicht für Kosten, wie entgangene Gewinne oder Einnahmen, Verlust von Geräten, Verlust der Nutzung 
von Geräten, Verlust von Software, Datenverlust, Kosten für Ersatzprodukte, Ansprüche Dritter oder anderes.

Eaton hat den Grundsatz, sich kontinuierlich zu verbessern. Spezifikationen können ohne Ankündigung geändert werden.

Wartung
• 	 Compruebe a intervalos regulares (al menos cada tres meses) que el soporte esté seguro 
para usarse.

• 	 Si tiene alguna pregunta, visite por favor a Tripplite.Eaton.com/support.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
Vereinigte Staaten
Eaton.com

© 2023 Eaton
Alle Rechte vorbehalten.
Veröffentlichung Nr. 23-06-148 / 93-377A_RevB / GG 
November 2023

Eaton ist eine eingetragene 
Handelsmarke.

Alle Marken sind Eigentum der 
jeweiligen Inhaber.

40

Montage

Garantie


